1 E it

= W (A, n¥k. HE)

L Ko s 5 T2 O i R
No | %Kk LB RN it R nd fit§ %
1| 1 bk A2 -G R 1P 428. 00
2| 1 |ERARE B eI VARV R - 313 L 15. 04
3 Fexriubuite R —

AN 2 Ffi 443.04 | (NER)  FEARIE 2 B 443. 04nd

1 fE TAEH ]
2 FFEN OO Y EERE Y 2 —
No |tk /BN it [k i £
L
1|1 |l 05 < 0 it v o — | SR R R (A 1815. 94nf)
2 384. 00

3 MBS EESE
No |5 B4 TR i it dfE od i £
1 1 {5 R C 5 Pk FE1,027.71 [FEL, 141. 7indO 114t RFEBR LBERES
2| 1|7 Rk bR AR LR 5.00

iy 2 Ffi 1,032.71 [(NFR)  FEARE 2 B 1,032, 7T1nf
4 RIFBR LBERES
No |5 RN i it dfE od i £
1] ) |EeE R C 5 gk JiE 114.00 [FE1, 141. 7TInd D1, 027, Tinf  AAFRAE AR E
iy £t Hh 5(1) ## 3,405.69 |[(NFR) JFEAE 5(1) bk 3, 405. 69nf
= i 1 & LA 1 fE




